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F INANCIAL ACCOUNTING II
Paper : 202
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The ﬁgufes in the margin indicate full marks
for the questions.
3 Answer the following as dirccted : 1><1~()
o SRR Tes il ¢

i) Select the accounting standard apphcable to
valuation of inventories {from the following
options :

ReHIE Res™ o[ Tgresle) JeiRee I AIE)
f2pisl weww <o St ¢
(@)  AS-1
-1
(b)) AS-2
 WeNH2
() AS-6
TYT-6
@d AS-9
-9,
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;(ii) In cash flow statement donation is classil v ing profits is considered

as : @ f_ 1’—:@ ﬁm* odwill ?

(a) Financing act1v1ty'

(b) Investing activity

el o

(c) Operating activity
femr </

(d) Philanthropic act1v1ty
e 1 ,‘ ofit

(iii) In ‘branch accounting’, goods sent to brd
account is transferred to the credit of ¢

‘g Bol TS MG @RS T W
(P! I GPfETe FIes 1 =L

(a) Profit and loss account

FSCETIFDI 2ot il financial statement
(b) Purchase account Wl elfsrmm (Rfe)
Ty 2o 4 for amalgamation
(c) Sales account . I EBIEE]
KR! 2ol  for fixed assets
(d) Inventory account 1 fepteN <<=
ey f2piet | ‘
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“(vi) Branch stock account is always prepart \
Qe SeeHely 25 i NS @ | _p Act was enacted in the
(a) invoice price i SRS ERCICIn SRS eT
B (invoice) U P Act) [fgaa =1 23 ¢
(b) A retail price | 1 '
LR
~ (c¢) wholesale price 1
RPN T #
_ @ _COSt ERe Realisation acéounf 1n a
‘ R : - i transferred to the capital
(vii) Normal loss is not shown in the | the partners in which of the
account under : : i ?
ARG @R Taed ST AR ( [l4® Realisation B5isig 2!
Qe Boie (1Yedl T2 | SACD] [ SgRS ST
(a)  debtors system a9l 292 o
AT G ng ratio
(h) stock and debtor system ‘
TGOHie S (AR %S
(c) final account system gl
AR
(d) hybrid system ;
e oS | haring ratio
~ -' bl 2% s |
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ill of a ﬁrm represents the
| 8 of real net worth of assets over
ok value. 2

Hﬁ‘ém B FFN A=W (real
)WWW?@‘WW

(x) A partnership firm can be dissolved L

- which of the following circumstances

e (oot »1RfEfos «f s
S 77 A -

(a) quarrel among the partners

ERW oo Fifemn ‘ verage profit method takes into
(&) insanity of onc of the partners | ﬂt1hc abnormal profit or loss arising
, € course of business. 2
G SRR NeE Ripls
| ey wfa?rrr RRI SISl 571 =i
(c) order from the municipality - B 9IG SS Pimfor R ?Ii@!
TR IFGAF | [ d8IC accounting assumptions under

(d) existence of a dormant partner

.
e e A 2 S | e Cﬁ?fﬁ%ﬁw‘ﬁa HREIPTE Srael

i the (reatment of bad debt under

2. Answer the following in brief : - gﬁ of branch accounting ? 2

Feste Rang vy Seg ¢ Wﬂﬂﬁﬂ%ﬁﬁﬁ‘@%ﬁﬂmm
s : ; ' [ 4o 2
(i)  Comment on the following statemen g :
Neare Sfes R sy Tl #r of the following : 5%x4=2()

Fﬁmﬁm GEI

(@) Dissolution of partnership firm
| the salient fcatures of Accounting

dissolution of" partnershij

Synonymous. A AS 9.
SRAMIST IR SR ol e i Standard AS-93 337 iRyl
SREf T 77 | i |
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(b) State the objectives of branch accoun " Balance Sheet

e 2ot TR SRR %ﬂ 41 Rs | Assets ﬂmn%‘ Rs
(¢) A firm’s normal return is 15% of i 20,000 | Cash at bank _ 10,000
asscts. The actual profit earned by ﬁm (PO 7 1

Rs 75,000. Its value of net asse Debtors '15,5.00

Rs 3,60,000. ‘ 30,000 | ¢ ‘

What. is the value of goodwill lcss‘ provision 3,500 12,000 |
capitalisation of average profit methol I 4 il |
SN GBF Y Tl 15% JeI | | Inventory 28,000
(% ) & | 311 &g @ 2a 75,00 g

N o T T 2 3,60,000 54 “, 50000 | ‘ 000
MST YIS (capitalisation of av :
profit) #%fS WPl E 3 Fw 3

(d) xandy are partners in a ﬁnnv, sharing |

1 talised are as follows -

# 10,000 ; Inventory Rs 18,000;
85,500. Realisation expenses Rs 1,000,
‘!_ fccessary cash to meet his deficit.
b entrics in the books of the firm.

ey 3

A:[m Bl ; Srerestoy 18,000 B ;W 5,5'00
R 251 1,000 5911 y @ stcmmesy ssi
WA fabte1a 1B = i) | '

8 Wil 2R fa

and losses in the ratio of 3 : 2 resped
They decided to dissolve the firm. Foll
is the balance sheet on the date of dissol

3 : 2 SIS SSCERGI o3 (i |
Sl y <1 AW FREIS Sz | (0
ST SRR Tl sge e | f
SIS S e ffve wors fial
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(e) Discuss the proceduré of preparing a 0

branch account in the books of head ¢ :
| §
(2T SFH9 IRS QRS e 1%6191 Gl
4l it | ik
3,500
- ()~ Give an account of International Acco 1
Standards Board. 8'000
International Accounting Standards B
ﬁm«ﬂﬁ e il 11,000
4. Answer the following questions : 10
eaie ey Seg far
< iR : i b 22,000
(@) Elaborate the process of issuing IFR.
: ' e - 20,000
IFRS 2gw s)i%: [feraet (issuing) ¥ =14
- (b) .The balance sheet of Karna, Arjun and ]

& Balance Sheet

Assets Tifg

Rs

ASan BRACTIG o g

sharing ‘profits and losses in the ral

| PRI Y W02 3 (FEET Ty Ffon

on 31st March 2013 who are in partn

3:1:1 is as follows :

31 506 2013 ﬁ%ﬁ“$@fwm%3
TE SISO ©IllE @RI 5os Y

W_ﬂ_ﬁmi’c"{o

11

Cash at bank @ 07 &1 4,500

Motor car W55 916t

Debtors (alis

Machiriery Zgeifs
Furniture Wﬁ”(@
Invcntdry Tgoy

25,000
13,000
21,000
17000
9000

89,500

WL April 2013 the firm is dissolved. The
i realised are as under :
o1 Rs 11,000 ; furniture Rs 18,000 ;
ilory Rs 8,500 ; Motor car Rs 22,000.
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Discuss the procedure of settlement of
lecounts when one or more partners
€ insolvent. 5+5=10

m 4 gifas sefmg w@ﬁm T

’REWWW%WW
WI ‘

2013 59 1 GfFie] SRS SIRaIRT SR
frare e Rl <R Al 7 =1 8
(TS 11,000 5 S6AksiE 18,000
Tgrewidy 8,500 5l; W61 ?ﬂ@ 22,000 5=

Machinery was taken over by Karna

Arjun at k value. |
- Arjun at book value : Ltd invoices goods to its Mumba1

ich at cost. Prepare necessary ledger
Unts in the books of the head office
I Stock & Debtors system from the
lng information : -

Realisation expenses Rs 400.

= OiF SEE Tl AR)S Al e
AL

SRR < e 400 B | 7. id. @ Mumbai eie TS B

Il (®9e #q| ﬁm*wamﬁ ?[ head
f 4 92)¢ Stock & Debtors NG o©
I Ao fepiet arwe 1)

ing balance : STsf Hf
g9 Rs 10,000

I8 T Rs 14,000

Sl 4 Rs 400

§ent to branches Rs 30,000

"""" 9 AN 30,000 B -

Close the books of the firm by prep
necessary ledger accounts.

DI fepiet 42 9% 0 319009 AN 4
o1l e w1

(i) Discuss the manner of piecel
distribution of procceds wh
partnership firm goes into dissolt

SR SR GO S
- SIS Bl ST i 2 e 4
ISR A ST 01
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i

Abnormai loss SEGIiE (TR RS )
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iow ing is the information relating to
arlments of a business house :
3

Goods retﬁmcd by bi‘anch Rs 3 000 4
BIRIEY ‘@3 o ) 3, 000 Bl |

’lotal sales (of which Rs 30, 000 was il ﬁﬁ’éﬁé vl feiel weep l@lﬂ ﬁtﬁT—
sales) Rs 53,500 18 fr 2 < .
;@ﬁ-‘ﬁ@m 30, OOOWWHW%’%} 54 mses of Rs 52,000 includes purchase

ales department 1,000 umts producuon
fiment 2000 units.

) Dl @39 foege Sales departinent?

§

f 000 units (¢316) @, BN production
diment < 43 2,000 56 @ AN &=

5l ‘
Bad debts SE@RAR A Rs. 900

Return from customers Rs 1,000
ooty gaiE T AmAl 1,000 5
Cash remitted by branch Rs 46, ()OO
«afE (2 1 7 4 46,000 T
Other expenses of the branch Rs 6, (1

: N ;
filng stock SIS Sgosiey ¢
4 department Eal ﬁETﬁT 120 units (¢a15)

41 SEGR 2 6,000 B ietion department BesA foiel 80 units

6 o ¢
{department f& Rt 1,020 units (1)

lic tion dcpartment e ol 1,920
8 (071f5)

i price per unit : (<l Zﬂ% Reen)
department i@ ffet = Rs 20 cach

Cash rcmltted to branch Rs 4,500
e (elfFe A5 4,500 5
Closing balance : FwEa R 2
Stock SEe#l Rs 8,000

Debtors G Rs 15,000
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Peructlon department %@N‘/‘ﬂ @ =Rs 22 *
each

The rate of gross profit is the same in ez
case.

Rent of Rs 4 OOO is to be apportloned in the
ratio of sales.

Prepare depaﬂmcntal trading and proﬁt :
- loss account of the business house.

o0 Crge ?_@531‘ © (gross profit) I TF &=

27| ’

4,000 T OISR -7 (I TIF R Sl

B R A | TP DRI [T
. SNSRI 2pH e 34 |
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